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Ex: One end of a uniform beam of weight W
is hinged to a wall, the other end is supported
by a wire that makes an angle 6§ = 30° with both
wall and the beam. Find the tension in the wire,
horizontal and vertical components of the force

of the hinge on the beam.
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BI]; (2JE®) Now translate the problem to a

mathematical figure!
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geometrical relations and the statical relations!
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TE TGS (& ST The rest is Algebra and

trigonometry, So the problem is finished!

TS I afy W teleel- ofe @w FeiE!
R e fFfe-fee @ sfsfwwg W wfts
2 ififaz vy IR awE Fw, 9 S
3 TR T AE GG TAlH Sferers f
fa farenedom a Aeefac s A @ afg
ERRfE @fy wifte =@ife @ s afi) =<T =2-
e @3 e @i serRsE TesceE
gt wie Qo A/ @R @i fqos
Tferarata el | ify e e S0 7%
et (Rt [FeRite) W arve e
Ffeate i

Iy AT T L S TR, e AFIR
TFES TI I, AN 7 SEqe! QT TS
@ F LoiferEt oitee @bt i i swfacs!

aify goiy Affee | B9 Fo9 TWERT gor
ZARM] WEwF| D99 860 Central force o9
Qs T FRE @D GF o & aifeeEt | v
o 3z W e sare @ifar tafeer et = ieoig
BT (@6 71 (637 «ifew) @if 2 @vee
4 ¢2 wifecEl| =i (Fieel- gl @13 (G3eTe (681
AT TB o9 (GIAANE Lo (5B i (|
q@sl g @erihl (2 Tore R IPIRs! Ee
i 31 (et @t ef enfafeee| 29 ¢vs wifa
aIfefeE| @13 FIFedTE AT AR @EER

PRMIE WifEf%e QNS A, W s Mo sAfded
QI AL 20! WiRed| AR q9-aid 799 afs
¥are ©fy «ifqfeT)

e PreaRiS @i IwelR ot WN.azfz. oz
99 Pize @ g erteiied seee Fyfe
AIRCR]| WV S AZHIREEE oIl B9 €9
el SeeTed 9bces | e (@fy s&fel e S
@, CTR) S TP (A BIRwes 791 iR =iE
(IS A B2 (Ffee “COINT 7N 49E v&”, (AR
TR TS i SR 2@ vN, oS = &
e, “or, =, We @ig W gt F6ae Awice
(V19 8B Central force T (FLMT ‘ATIN’ ¢ Laifeatt
T2, (SINR B! W2 R el (e we-ee SR
e ofF +ifafest | @ ifes ST ga-fH#rFss T |

e arery e Yl wfers wfscat et s
AT FAGR| e @ Ta9 A9 s
e AT R @t 49 sz T @16 wify
Jgres fqie g =i 9iae Jake e AL
I PR @F & A¢| Toro -FrFde e
OB (IR 2T | (FIC IS AT FIEES
TIeeR @A Wfe wfe & IRwe @RI, @
@b R TgiRe e o@ie o@ie[pe fRe @[,
AN O GIRIR T 21 IR AFT | A=
R AR FPoGT ARSI QN2 5585 BB
THCSAT Tl AoHILCHE 01 TR (I SIRIBIE
T (T AfFES - T @ 2w

- T° AN & OIS

(MCRICS (08 Hfefre], “gfil 6 (FTHCeTd T @R

T OF TS ZART IS, WAE Afre] STrRieid aFice I1 Mife 512 4 ]

sffere Rl | Aefows el | Geild - (RHS, 03

@Y



